
�

�

�

�

�

�

�

��

�
�
	�

�
�
	�

��	�

��	�


��
�

�����

����
���

����
�

�����������

������ �!�����
���"��#

�$%�����&�&&&�'�(�������&��� 

������ �

 �
 �
 �

)


�

�*+� ��,
-�����%��
�.��/����"��������
���01��

POS. ANTAL TYPE BENÆVNELSE
1 1 DVZK09-D5 Cover bottom
2 1 DVZK09-D6 Cover top
3 1 D-JSS-32 Solid Jack screw
4 2 MFT-GF-M3x10 Screw
5 1 DVZK-D1 Strain relief
6 2 DVZK09-W-D1 Insulator
7 1 D-ST09 Sub-D Connection block



�

�

�

�

�

�

�

��	�

�
 
	�

��	�

�
 
	�

��	�


��
�

�����

����
���

����
�

�����������

������ �!�����
���"��#

�$%�����&�&&&�'�(�������&��� 

��������

 �
 �
 �

)


�

�*+����,
-�����%���
�.��/����"��������
���01���

POS. ANTAL TYPE BENÆVNELSE
1 1 DVZK15-D5 Cover bottom
2 1 DVZK15-D6 Cover top
3 1 D-JSS-32 Solid Jack screw
4 2 MFT-GF-M3x10 Screw
5 1 DVZK-D1 Strain relief
6 2 DVZK15-W-D1 Insulator
7 1 D-ST15 Sub-D Connection block



�

�

�

�

�

�

�

�
 
	&

��

��	�

�
 
	�

��	�


��
�

�����

����
���

����
�

�����������

������ �!�����
���"��#

�$%�����&�&&&�'�(�������&��� 

��������

 �
 �
 �

)


�

�*+����,
-�����%��
�.��/����"��������
���01���

POS. ANTAL TYPE BENÆVNELSE
1 1 DVZK25-D5 Cover bottom
2 1 DVZK25-D6 Cover top
3 1 D-JSS-32 Solid Jack screw
4 2 MFT-GF-M3x10 Screw
5 1 DVZK-D1 Strain relief
6 2 DVZK25-W-D1 Insulator
7 1 D-ST25 Sub-D Connection block



�

�

�

�

�

�

�

��	�

��	�

�
 
	&

�
 
	�

��	�


��
�

�����

����
���

����
�

�����������

������ �!�����
���"��#

�$%�����&�&&&�'�(�������&��� 

��������

 �
 �
 �

)


�

�*+����,
-�����%��
�.��/����"��������
���01���

POS. ANTAL TYPE BENÆVNELSE
1 1 DVZK37-D5 Cover bottom
2 1 DVZK37-D6 Cover top
3 1 D-JSS-32 Solid Jack screw
4 2 MFT-GF-M3x10 Screw
5 1 DVZK-D1 Strain relief
6 2 DVZK37-W-D1 Insulator
7 1 D-ST37 Sub-D Connection block


